[ﬁ2p4dnd@j

Ratio to ATLAS

1.2

0.8

0.6

0.4 —

0.2

0.5

900 GeV PP Underlying Event

l\

—I— [T | T T 1T T 1T T 17 | T |
:p > density wrt of leading track(|n| < 2.5, p.>05GeV,p >2 GeM
_— m ATLAS —_
— --3-- Herwig 7.2.0 default 7
e ¢ Sherpa 1.4.0 default |
_ —
_.. ....ll. il
Ll EH!l:

|

_éé‘ﬂm un agn" " - QWQEE ]
%g n"yn"ngugug"at=""" QWWQ@ i
- L L aan i
_| P I (U TR R | P I (U TR R | P I (U TR R | |
- ' ' ' ' | ' ' ' ' | ' ' ' ' -
i rxREnEn I
- aptl® O B e e

I T T T I T T T I T T T l

0 1 2 3

left|gright| (w.r.t. leading track) [rad]

Rivet 3.1.0, = 6M e?Vents

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


